6 Thith

KA hRATREE=2 T HRE
REE=4IJREERR

it P AT RIS - B RIERERER

E1E FpL1945/824H

$£20 FpK1948H23H. 24H

%3E FERK194F11A89H
¥4 FTrE20%287H. 8H

58 88 118 2R
H H E=QVOTRE E=A)OTHRE E=R)OTRE E=QVOTRE Bifs
BRE R BERtE s B g BESE s

1| RoEy <0.4 5.1 <0.4 1.0 <0.4 0.6 <0.4 0.4 ng/m3N
2 | yRRrey 820 710 320 14 160 10 46 2.5 ng/m3N
3 | 1,1,1-9RRI4Y 300 30 1.7 15 26 2.5 11 2.4 ng/m3N
4 | MO FLY 1.9 13 2.4 12 1.6 4.2 <0.6 <0.6 | ng/m3N
5| Tha00TFLY <0.8 1.2 <0.8 <0.8 <0.8 <0.8 <0.8 <0.8 | ng/m3N
6| 7oUB=r))L <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 | pg/m®N
7| BIEEZLE/T— <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 | pg/m®N
8 | #OORILL 4.5 <0.6 0.8 <0.6 <0.6 <0.6 <0.6 <0.6 | ng/m3N
9| 1,2-¥/RAIAy 0.7 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 | ng/m3N
10 | 1,3-7940TY 0.5 <0.3 0.4 <0.3 <0.3 <0.3 0.3 <0.3 | ng/m3N
11| bz 9.1 41 23 36 5.5 13 1.1 2.4 ng/m3N
12 | 750LEE Y -2-IF ARV | <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 | pg/m®N
13 | 7P ILTER 56 24 7 20 3 6 3 3 ng/m3N
14 | RILLTILTER <0.9 7.8 <0.9 4.1 <0.9 2.0 <0.9 1.0 pg/m3N
15 | 7KER (A RIK) <0.05 0.06 <0.05 0.07 <0.05 <0.05 <0.05 <0.05 | ng/m3N
16 | MLV 49972~ <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 | ng/m3N
17 | 7= 1.7 1.0 0.9 1.5 0.6 0.9 0.5 0.5 ng/m3N
18 | BRibK=R <0.2 <0.2 <0.2 <0.2 <0.2 0.7 <0.2 <0.2 | pg/m’N
19 | BRAEAFIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 | ng/m3N
20 | /AT¥H/OERYEY | <0.7 <0.7 <0.7 <0.7 <0.7 <0.7 <0.7 0.7 ng/m3N
21 | ZHiERER 1.0 0.5 1.8 1.5 0.5 0.6 <0.4 <0.4 | pg/m’N
22 | BiETFLY 0.4 0.4 0.3 0.6 <0.1 <0.1 <0.1 <0.1 | pg/m®N
23 | 7ILTEREE 58 39 14 36 5.5 12 3.0 4.8 pg/m3N
24 | BAAFIUHE — - 0.014 0.014 - - 0.022 0.033 | pe-TEQmMN
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SAE=4VTHE

8AE=ALTHE

" B By
AR | FEafE | Al | F2d | AUE | FE2fE | AlmE | Ei
1 | Nty 2.0 2.1 2.0 2.5 1.4 1.7 1.4 2.5 ng/m?
2 | onnrgay 2.6 2.6 2.4 2.5 3.2 3.5 2.8 2.8 ng/m?
3 | 1,1,1-k)yoRTay <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 ng/m?
4 | MJyORIFLY 1.3 1.3 1.3 1.3 1.6 1.7 1.7 1.8 pg/m?
5 | Th3YOOIFLY <0.8 <0.8 <0.8 <0.8 <0.8 <0.8 <0.8 <0.8 ng/m?
6 | 7oUB=kJIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
7 | BIEEZLE/R— <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
8 | yAARILL <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 pg/m?
9 | L,2-yAnIsy <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 ng/m?
10 | 1,3- 7491 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
11 | MLz 15 12 11 14 14 16 12 18 ng/m?
12 | 75LEEY -2-TF A%V | <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 ng/m?
18 | 7EFTILTER 5 4 5 5 4 3 6 5 ng/m3
14 | RILLTILTER 5.6 5.5 6.0 6.3 7.4 6.6 8.8 8.8 ng/m?
15 | KER (A RK) <0.002 | 0.003 | 0.002 | 0.003 | 0.002 | 0.003 | 0.004 | 0.003 ng/ms?
16 | MIVY 1974+ <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 ng/m?
17 | 7ER=RIJIL 0.4 0.7 0.6 1.2 0.5 0.5 0.6 0.4 ng/m?
18 | BRIEK=R 0.5 0.4 0.5 3.3 <0.2 0.6 1.0 8.2 ng/m?
19 | BRAEAFIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
20 | NFToRnORYEY 1.4 1.8 1.8 1.8 1.2 1.5 2.0 1.5 ng/m?
21 | =EifbmRR 1.1 <0.4 0.9 0.4 1.4 <0.4 0.6 1.0 ng/m?
22 | BiexFLY 0.3 0.3 0.3 0.3 0.2 0.2 0.2 0.2 pg/ms3
23 | 7ILTERE 20 13 17 19 31 34 34 39 ng/m?
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IH H Bifs
AR | F2fE | Al | FA2d | AUE | F2fE | Al | FEZd

1 | ANoEY 1.4 1.7 1.4 1.8 1.1 1.3 1.1 1.5 ng/ms3
2 | oynoiay 2.3 2.5 2.7 3.8 2.1 2.1 2.2 2.0 pg/m?
3 | 1,1,1-k)yBnnx4ay <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 ng/ms3
4 | M)y FLY 1.4 1.5 1.5 1.5 <0.6 <0.6 <0.6 <0.6 ng/m?
5 | Th3YO0OTFLY <0.8 <0.8 <0.8 <0.8 <0.8 <0.8 <0.8 <0.8 ng/ms3
6 | 72UBR=RFJIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
7 | BIEEZLE/T— <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m3
8 | yoosk)LL <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 ng/ms3
9 | 1,2-oynRnx4ay <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 ng/ms3
10 | 1,3-94>xY <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/ms3
11 | by 16 17 16 18 5.8 6.1 4.9 6.7 ng/m?
12 | 790EEY -2-TF ARV <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 ng/m?
13 | 7Er7ILTER 2 3 3 3 <2 <2 <2 <2 ng/m?
14 | RILLTILTER 3.8 4.9 4.4 5.1 1.7 1.6 1.4 1.5 ng/m3
15 | KER(FHRIK) 0.004 | 0.005 | 0.005 | 0.006 | <0.002 | <0.002 | <0.002 | <0.002 | pg/m?
16 | MVIVY' 4974 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 ng/m?
17 | 7EF=FJIL 0.3 0.8 0.7 0.4 0.3 0.3 <0.2 <0.2 ng/m3
18 | BRibK=R 0.7 0.8 0.5 0.6 0.6 0.5 0.5 0.5 ng/m3
19 | BRIEAFIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
20 | /AZPHOARUEY 0.8 1.2 1.2 1.0 <0.7 <0.7 <0.7 <0.7 ng/ms3
21 | ZhibRE 0.6 <0.4 0.4 <0.4 <0.4 <0.4 <0.4 <0.4 ng/m3
22 | BiETFLY <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 ng/m?
23 | 7ILTERSEE 18 14 16 18 1.7 1.6 1.4 2.1 ng/m?
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8 BE=AVVIHE
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5 B *f B Xt R 3 2 Xt EE Hh *f R .
BiE+ | BHFEZ | BUE+ | SHFEZ
INERR INERR INEAR INERR

1| "oty 1.3 1.2 1.1 1.0 ng/m3
2 | Dyapiay 4.9 2.5 0.9 1.1 pg/ms3
3| 1,11-f)yoaxTay <0.6 <0.6 <0.6 <0.6 ng/ms3
4 | M)yEOTFLY 2.2 1.4 <0.6 <0.6 ng/m?
5| ThSZOATFLY 1.4 <0.8 <0.8 <0.8 pg/m?
6 | 7HUA=rYJL <0.3 <0.3 <0.3 <0.3 ng/m?
7 | BILEZILE/7— <0.3 <0.3 <0.3 <0.3 pg/m?
8 | #agkILL <0.6 <0.6 <0.6 <0.6 ng/m3
9| 12->yonIsy <0.5 <0.5 <0.5 <0.5 ng/m?
10 | 1,3-94>xY <0.3 <0.3 <0.3 <0.3 ng/m?
11 | by 13 12 4.7 4.6 ng/m?
12 | 230EEY -2-IF ATV <0.1 <0.1 <0.1 <0.1 pg/m3
13 | 7EbFZILTER 5 5 <2 <2 pg/ms3
14 | RILLTILTER 7.8 8.1 1.4 1.7 ng/m?
15 | 7KER (7 RHK) 0.004 0.004 <0.002 <0.002 ng/m?
16 | MLIUOAYITR— <0.5 <0.5 <0.5 <0.5 ng/m?
17 | 7Er=RFJL 0.4 0.4 0.4 0.4 ng/m?
18 | Bribk*R 0.3 0.8 0.5 0.6 ng/m?
19 | BRiEAFIL <0.3 <0.3 <0.3 <0.3 ng/m3
20 | /XTTH/AA~AUEY 1.6 1.8 <0.7 <0.7 ng/m3
21 | =ik 1.7 1.8 <0.4 <0.4 ng/m3
22 | BMlETFLY 0.2 0.1 <0.1 <0.1 ng/m?
23 | 7ILTEREE 29 25 1.4 6.3 ng/m3
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2 it R BEKER &R

SAE=4VTHE

8RAE=AILITHE

® B 5 Bk 4 13$ & Bk T s | B
HOKME | I | B | TAE | HokiE | Mg | Bk | Tk
1| hRSYL R | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | me/t
2 | R <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 |me/t
3| 4 R <0.01 | <0.01 | 0.05 1.2 <0.01 | <0.01 | <0.01 | me~t
4 | Tmah R <0.03 | <0.03 | 0.12 1.1 <0.03 | <0.03 | <0.03 | me/t
5|27y R <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | met
6 | #7kER KA | <0.0005 | <0.0005 | <0.0005 | 0.0023 | <0.0005 | <0.0005 | <0.0005 | me~¢
7| 1,1,1-MyE018Y R | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | 0.003 | me/t
8 | Brilek RA | <0.0005| 0.013 | 0.038 84 | 0.0006 1.4 0.012 | me~t
9 | BIEAFIL RA | <0.005 | <0.005 | <0.005 | 0.006 | <0.005 | 0.014 | <0.005 | me/
10 | pH R 7.9 8.9 8.4 6.3 7.9 8.7 7.8
11 | 3% R 0.10 0.10 0.17 0.23 0.15 0.13 0.16 | me/t
12 | E5% R <0.1 <0.1 0.1 0.2 0.1 <0.1 0.1 | met
*PREEKREISBRMNBFE>TUOEW O ET
11 AE=4Y T B 2RE=ARIVITRE
= E & HEK T 13$ B HEK T ng | B
HOKHE | B | Bk | TAKE | gk | umg | sk | Tk
1| hRsYL <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | me/t
2 | 0.06 <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 |me/t
3| 4 1.0 0.02 0.02 0.01 061 | <0.01 | <0.01 | 0.05 |met
4 | T 1.1 <0.03 | <0.03 | <0.03 | 0.69 | <0.03 | <0.03 | 003 |met
5| v7y <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | me~t
6 | #KeR 0.0035 | <0.0005 | <0.0005 | <0.0005 | 0.0048 | <0.0005 | <0.0005 | <0.0005 | met
7| 1,1,1-h9mR18, | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | me/*
8 | BibkE 0.67 |<0.0005| 0.025 | 0.044 3.7 | <0.0005 | 0.0006 |<0.0005 | me/t
9 | BRIEAFIL 0.015 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | me/
10 | pH 6.8 8.0 8.7 7.9 6.0 7.5 8.9 8.1
11 | 3% 0.27 0.21 0.12 0.16 0.26 0.12 0.12 0.12 | met
12 | E5% 0.4 0.3 0.1 0.2 0.2 <0.1 <0.1 0.3 | mest
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